%72@EEX§§§957‘*¢1&1%*%&% 2019/7/1
B M =®

L1—D | IZOZABC |@EE@ELT1—Z| TOMOY X Lien REA B R A& ,f‘ffﬁ BrRE & 42
X X X X 0 — 412 — 1019 — 20(281 — 350
=% BC 1 — 20 — 3|11 — 210 — 3 ( -4) ( -8 ) ( -11) ( -69 ) 5
3 — 411 - 4 — 41 -
81 — 82|70 — 92|72 — 82|58 — 94
(@) X X X 1 — 3|3 — 9|6 — 19(244 — 349
mgmEsex| 2 ] 0o — 3lo — 3|1 — 2 ( -2) ( -6 ) ( -13 ) ( =105 ) 4
4 — 3 — 0o — 6|2 -
82 — 81 71 — 90|32 — 90|59 — 88
@) @) X (@) 3 — 1|9 — 3(18 — 10321 — 309
Tomovx| 3 — 03 — 1T — 212 = 1] (2) ( 6 ) ( 8 ) ( 12 ) 1
- — 2 — 5 — 4
92 — 70190 — 71 6 — 86| 74 — 82
(@) @) @) X 3 — 1|8 — 4|18 — 10339 — 259
Lien - 13 = 012 = 1 1 - ( 2) ( 4 ) ( 8 ) ( 80 ) 3
4 — 4|6 — 0|5 — 2 3 — 4
82 — 72190 — 32|18 — 65 81 — 90
(@) @) X @) 3 — 1|8 — 4|18 — 10354 — 272
mgH |3 — 0|2 — 11 — 22 — 1 ( 2) ( 4 ) ( 8 ) ( 82 ) 2
6 — 1 4 — 2 4 — 4 — 3
94 — 58| 8 — 59182 — 74|90 — 81

1/ 11 R—=2




R4 : ENRREREXEEFF)77 Wi

EH: H{FE(L1-D)

HEES: 1 (ICTOZBCvs BERELT —A)

=15 IFRNRAR -Vt 49—

(2D ZBC

R &
D1
P EF

B#H HBiF
D2
&HE #&F

R HTH
D3
FIE HBETF

L1—D

12 —
13 —

15 —
10 —

15 —

2/ 11 R=

BEALT —A

F T B&F

HLE Ex

Bl BEF

BR XF

KT HH
£ BT



R4 : ENRREREXEEFF)77 Wi

EH: H{FE(L1-D)

HEEE: 2 (TOMOY X vs Lien)

=15 IFRNRAR -Vt 49—

TOMOT R

Pl Ex
D1

BE EiLF

A& F&
D2

R#HE WF

Nkt YL
D3

EiE IHF

13 —
15 —

3/ 11 R=

Lien
S EF
M ==
_}'-L /J\\EI

FAAN EF
BK BAE



A4 : ENRRRXRRARES)77 3
#HB: H{&EL1-D)

HAEES: 3 (I2mzxBCvs REM)
25 IFNRAR-YEU4-

L1—D
[ZCDZBC 0 — 3 REM
Bl BEF 8 — 15 HE mF

D1 0 10 — 15| 2
HIE HEF — ING EHE
B3 HBiLF 6 — 15 K EBF

D2 0 6 — 15| 2
miE E£FF — | |
FiE HEF 10 — 15 =55 Bx

D3 1 15 — 14 | 2
ZFH &7 3 — 5 | R

4 /11 R—=2



REd: ENREREXREEFEF)77 i
e HAE(L1-D)

HAEEES: 4 (BAEAELT 1—X vs TOMOYR)
25 IFNRAR-Yts5-

L1—D

EEAELT (A 0O — 3 TOMOI R

HT [&F 9 — 15 RE F=
D1 0 12 — 15 | 2

HLE BXE — JIlE YT

KEE FH 12 — 15 %8 EfeF
D2 0 14 — 15| 2

BH BF — | ik I3LF

Bl B&F 13 — 15 =5 WF
D3 0 11 — 15| 2

=K EkF — K#F B-F

5/ 11 R=



R4 : ENRREREXEEFF)77 Wi

EH: H{FE(L1-D)

HAEES: 5 (Lienvs HEM)
215 IR -Ytv4—

D1

ol EF
D2
il

HAST
D3
FEAN EF

6/ 11 R=

15
15

13
13

15
14

REh

A mF
| B

AR EBT

NG FHE

i N Y 5
ESE BX



R4 : ENRREREXEEFF)77 Wi

EH: H{FE(L1-D)

HEEE: 6 (IZOZBC vs TOMOYR)

=15 IFRNRAR -Vt 49—

(2D ZBC

R+ &8
D1
R HTH

hiE XFF
D2
Bl EBEF

RIE HXF
D3
FI Ef

L1—D

7/11 R=

3

15
15

15
15

15
12

TOMOY A

Pl B3

RE Fi=

Lt YT



R4 : ENRREREXEEFF)77 Wi

EH: H{FE(L1-D)

AEES: 7 (ABEBELT (—A vs Lien)

=15 IFRNRAR -Vt 49—

BEBALT —A

K HH
D1
BT

Bl BET
D2
HE BEx

B’R XT
D3

L1—D

o
|

8/ 11 R—=

15
15

15
15

15
15

FAA BEF

HoOFT
Uil S



R4 : ENRREREXEEFF)77 Wi

EH: H{FE(L1-D)

HEES: 8 (TOMOL R vs HEMR)

=15 IFRNRAR -Vt 49—

TOMOY A

K& T
D1
Nt YL

Filn B3
D2
e BT

EE W
D3
R#Hx 8+

L1—D

9/ 11 R=

REh

ETS BX
NG AR

AR EBT

bl #BF

i N Y 5
| B



RKed: FNRERRRXEEFTI77
#HE: H{AEQL1-D)

HEES: 9 (IZWABC vs Lien)
25 IFNRAR-YEU4-

L1—D

[COABC 1 — 2 Lien

B# BT 15 — 10 =/ EF
D1 2 15 — 9/ 0

MR HCH — E RE

I Er 15 — 14 EKk BE
D2 1 7 — 15| 2

HE BT 1 — 5 BN BT

Oz EX&FF 15 — 9 fL #T
D3 1 3 — 15| 2

Bl BEF { — 5 e

10/ 11 R=



Ref: EFNRERRAXRES)77 ®E
#HB: H{&EL1-D)

HMEES: 10 (BEBALT (A vs REHA)
25 IFNRAR-YEU4-

L1—D
BEAELT (—A 1 — 2 REM
Bl BEF 11 — 15 =515 B=x

D1 0 3 — 15| 2
EE RF — A EF
T [&F 15 — 14 dtim 8F

D2 2 15 — 14| 0
HE EHE — | INE EhE
RIFE F 5 — 15 R ER

D3 0 10 — 15| 2
BHF BF — Rk EBF

1M/ 11 R=



